LHS 710 =7} Q1= eI~ E8IA A Q08| A AE

ZE5 MY/HE olo|x|
s Mo
Ros 23
frei _
HIZ MY: )
lElA ZRx{E HEtZ{oz Qls & 9Ix|7} HatE WS Yxlsty|
%9 Sl A EILIC B3 HHE 180° E2IH &3 Tlo| Pl fIxI2 Sotet
R &3 XIS HAY £ U EHLch 22 M &2 &3 it o] fUx|
dr &b 0L & of & E|of &3 Elo| fizf AXIZ Sot2 HENE RXISHE S FLICH
gaj ) 4 El" & — «I
i % Ej» 2 ) s-«) IH’é"
; "Qm) v 1;- ] LIAL &2|2 2 &2 HF 1.4308.
ﬁ = v ay A2 El 1.4305.
- ohE AL 1.4310
fi\ﬁ" ‘#O{E-a\x\ . e =2 [MEE iz PA %’7}'_/.\_)5' Ix:ll.:,_ HI' FH
@ @ ¢ ) -
RAL7021 RAL 2004 RAL 1021 RAL 3020 tnl_q ul‘-?—al:
N =4 ol gw ol 2l |_|.A|. %E'E’ lO=II-|T-_'_=I| AEEOI ELJ ?:-llglk_h-l Q-E- HI._
& | 9 ¢ &2 o, oo} W R op 22,
RAL 6032 RAL 5017 RAL 7035 EI' OOF?_I- A—h”él-g-l xnl-% HI‘ ;HH

- 2 3|M RAL 7021.

Py
>
=
N
o
o
N

4'»

i

2HA RAL 1021.
w7+ A RAL 3020.
=AM RAL 6032.
I} 2t M RAL 5017.
t 3| RAL 7035.

Rall pal

o for 1 for rlo o
on A% on - 1z

1o el

&

r
0

o|=:
LHE 710|E7} QlE QEA EHME HMYE T2 HX| A3 § 2
Q0| AlBt ol =2lg £ l&Lct.

XbA.

=.
TEFZ Ele B3 HHE 180° EA T4 AL
_HAME TEZ LA g2l=0l 2240] So{7he Hg WXL
-gElEo| 87toR olHa ERKIE A7 ZEE 4 UsLc
2 Al:

S A wiE.
MMM E]:

27o]A E& K0638.
EZ XML 24 K1290.

S0 M.

Etel A: &= HE 7 15, &2 LHE S
Etel B: &= HH A 5, =2 LE /US
EtelC: &= vt A US, H2 HE 93
Et D: &= v Y US, H2 HE US

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
| - =
LIS 71017} QU= QA ERBIK] AE|QIHA AE
=0
® © ®
L1 L1
il L
JCoE Ji= JIEDE 1D
[ i EI:
- -~
) | Swi ) | —— swi
W L] y, BEES
= | Sw2 = ! ! Sz
T == T S—(—
oL D35
M A—IAL
o 5 by
%‘ 8 -1 |
Z= Q0
LIS 10| S7} QUi QIiA ZRIA AE|IE|A A
FEHS Ef 2l THE AL D D1 D2 L L1 L3 B B1 H SW1 SW2 Fx30° A[& Bk
EbA E2
F12. N F2 2. N
K1678.10405101 A - 5 M10x1 16 458 25 15 9 3 6 13 - 1,3 8 14
K1678.10406121 A - 6 M12x1,5 17,4 554 30 1910236 8 14 - 1,8 8 15
K1678.10408161 A - 8 M16x1,5 216 71 40 26 1444810 19 - 2,3 15 35
K1678.10410201 A - 10 M20x1,5 24,8 805 50 30 17 6 12 22 - 2,8 20 60
K1678.10505101 B - 5 M10x1 16 458 25 15 9 3 6 13 17 1,3 8 14
K1678.10506121 B - 6 M12x1,5 17,4 554 30 1910236 8 14 19 1,8 8 15
K1678.10508161 B - 8 M16x1,5 216 71 40 261444810 19 24 23 15 35
K1678.10510201 B - 10 M20x1,5 24,8 80,5 50 30 17 6 12 22 30 2,8 20 60
K1678.10605101 C 43| M RAL 7021 5 M10x1 16 467 2631510949 6 13 - 1,3 8 14
K1678.10606121 C 3| RAL 7021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1678.10608161 C 3| RAL 7021 8 M16x1,5 21,6 72,6 42 26 17,78110 19 - 2,3 15 35
K1678.10610201 C 43| M RAL 7021 10 M20x1,5 24,8 82,3 51,6 302159512 22 - 2,8 20 60
K1678.106051012 C Fo{2#X|RAL2004 5 M10x1 16 46,7 2631510949 6 13 - 1,3 8 14
K1678.106061212 C F0{ 2#X|RAL2004 6 M12x1,5 17,4 56,5 31519 13 58 8 14 - 1,8 8 15
K1678.106081612 C F0{ 2#X|RAL2004 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 - 2,3 15 35
K1678.106102012 C Fo0{ 2#X| RAL 2004 10 M20x1,5 24,8 82,3 51,6 302159512 22 - 2,8 20 60
K1678.1060510116 C g2 =2 RAL 1021 5 M10x1 16 46,7 26,31510,949 6 13 - 1,3 8 14
K1678.1060612116 C gh2 =2 RAL 1021 6 M12x1,5 17,4 56,5 31519 13 58 8 14 - 1,8 8 15
K1678.1060816116 C gh2 2 RAL 1021 8 M16x1,5 21,6 726 42 26 17,78110 19 - 23 15 35
K1678.1061020116 C g2 2 RAL 1021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9512 22 - 2,8 20 60
K1678.1060510148 C AMESWZRAL3020 5 M10x1 16 467 2631510949 6 13 - 1,3 8 14
K1678.1060612148 C pMESS wZFRAL3020 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1678.1060816148 C AESS WZERAL3020 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 - 2,3 15 35
K1678.1061020148 C AMSE w7 RAL 3020 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 - 2,8 20 60
K1678.1060510186 C Alad sMRALG032 5 M10x1 16 46,7 2631510949 6 13 - 1,3 8 14
K1678.1060612186 C Alod s RAL6032 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1678.1060816186 C Alod sMRAL6032 8 M16x1,5 216 726 42 26 17,78110 19 - 2,3 15 35
K1678.1061020186 C Alad sM RAL 6032 10 M20x1,5 24,8 82,3 51,6 30 21,5 9512 22 - 2,8 20 60
K1678.1060510187 C AES D2 RAL5017 5 M10x1 16 467 2631510949 6 13 - 1,3 8 14
K1678.1060612187 C AES o2 RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1678.1060816187 C AE5 O3 RAL5017 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 - 23 15 35
K1678.1061020187 C A5 5 o2 RAL5017 10 M20x1,5 24,8 82,3 51,6 302159512 22 - 2,8 20 60
K1678.1060510188 C Q15 3|AH RAL 7035 5 M10x1 16 46,7 26,3 1510949 6 13 - 1,3 8 14
K1678.1060612188 C Q48 3| RAL 7035 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 - 1,8 8 15
K1678.1060816188 C Q48t 3|M RAL 7035 8 M16x1,5 21,6 726 42 26 17,78110 19 - 2,3 15 35
K1678.1061020188 C 9_% 3|A RAL7035 10 M20x1,5 24,8 82,3 516302159512 22 - 2,8 20 60
K1678.10705101 D Z3|AM RAL 7021 5 M10x1 16 46,7 26,31510,949 6 13 17 1,3 8 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
| — =
LIS 710| =7} Q1= eIsiA EA Al A AE
EZS 29

FOHS EFQJ TEE M4 D D1 D2 L L1 L3 B B1 H SW1 SW2 Fx30° A[& EbA
Eb =

F12% N F22. N
K1678.10706121 D 3 RAL 7021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.10708161 D @il&! RAL 7021 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1678.10710201 D 43| M RAL 7021 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1678.107051012 D Fo{23X|RAL2004 5 M10x1 16 46,7 26,3151094,9 6 13 17 1,3 8 14
K1678.107061212 D Fo{3X|RAL2004 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.107081612 D F0{3X|RAL2004 8 M16x1,5 21,6 72,6 42 2617,78110 19 24 23 15 35
K1678.107102012 D  Fo{ 23 X|RAL2004 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1678.1070510116 D gfe2 2 RAL 1021 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1678.1070612116 D gfe 2 RAL 1021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.1070816116 D gfe 2 RAL 1021 8 M16x1,5 21,6 726 42 2617,78110 19 24 23 15 35
K1678.1071020116 D gf2 -2 RAL 1021 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1678.1070510148 D AEZS#WZ RAL3020 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1678.1070612148 D AES#WZ RAL3020 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.1070816148 D Al=S ’%%’ RAL3020 8 M16x1,5 216 726 42 2617,78110 19 24 23 15 35
K1678.1071020148 D  AES5#wZ RAL3020 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1678.1070510186 D  Al2'd s RAL6032 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1678.1070612186 D  Al2'd S RAL6032 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.1070816186 D  Al2'd S RAL6032 8 M16x1,5 21,6 72,6 42 2617,78110 19 24 23 15 35
K1678.1071020186 D AI:L'-E* =AM RAL 6032 10 M20x1,5 24,8 82,3 51,6 302159512 22 30 28 20 60
K1678.1070510187 D  AlZS ml& RAL5017 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1678.1070612187 D  AE=S ol& RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.1070816187 D  Al=S5 m& RAL5017 8 M16x1,5 21,6 72,6 42 2617,78110 19 24 23 15 35
K1678.1071020187 D A5 m& RAL5017 10 M20x1,5 24,8 82,3 51,6 3021,59512 22 30 28 20 60
K1678.1070510188 D i3t 3[MRAL7035 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1678.1070612188 D Q48 S| RAL7035 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1678.1070816188 D 4t [ RAL7035 8 M16x1,5 21,6 726 42 2617,78110 19 24 23 15 35
K1678.1071020188 D 43t 3[A RAL7035 10 M20x1,5 24,8 82,3 51,6 3021,59512 22 30 28 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



